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Kendall's coefficient of concordance Wt
Chisq(9) = 33.2
p-value = 0.000123
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Al<-colSums(ratings)
A_num <- which(Al1>median(A1))
ratings2<-ratings[,A_num]
kendall(t(ratings2), correct = TRUE)
132455,
Kendall's coefficient of concordance Wt
Chisq(4) = 20.2
p-value = 0.000451
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Z=4.3019, p-value = 8.466e-06
95 percent confidence interval:
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sample estimates: 0.4174757
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attach(infant_weight) fitl<-
rqg(weight~married+boy+smoke+mom.age+m._wtgain,method="pfn",
tau=c(0.1,0.2,0.3,0.4,0.5,0.6,0.7,0.8,0.9)) summary(Fitl)
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datal<-read.table(file = "/Users/w/Desktop/junior_STAT_FIRST_SEM/nmSTAT/Z 4 5L/ 7% 7 5
P5/% 6 % /saheart.txt", header = TRUE)

st [A] )]

attach(datal)

fitl<-Im(adiposity~Idl)

#plot(fit1)

HHHHHHH#Brown-Mood 772 1) HR A B ] 1
cyx = coef(fit1)

yy = adiposity

xx = 1dI

y_median = median(yy)

Xx_median = median(xx)

xx1 = xx[xx>median(xx)]

xx2 = xx[xx<median(xx)]

yy1l = yy[xx>median(xx)]##

yy2 = yy[xx<median(xx)]##

y1l_median = median(yy1)

y2_median = median(yy2)

x1_median = median(xx1)



x2_median = median(xx2)

beta = (y1_median - y2_median)/(x1_median - x2_median)

alpha = median(yy - beta*xx)###### XN 7 =
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[2<-NULL

if(length(data1sldl) != length(unique(data1Sidl))){
2 = NULL
vl = unique(data1$ldl)
for(iin 1:length(v1))

12<-c(12,median(datalSadiposity[datal$ldl ==v1[i]]))

n <- length(12)

}
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combos <- combn(n, 2)

i.s <- combos[1,]

j.s <- combos[2,]

Y.num <- 12[j.s] - 12[i.s]

X.dom <- v1]j.s] - v1[i.s]

Z.p <- gnorm(alpha/2, lower.tail=F)

N <- (n*(n-1))/2

s <- (Y.num/X.dom)



C.stat <- sum(sign(s))
slope <- median(s, na.rm=TRUE)
intercept <- median((12[ ] - slope*v1[]), na.rm=TRUE)
HHHHHHHFHAHWLS
WLM<-Im(adiposity~Idl,weights = 1/(Id1)A2)### X A AR /N — 3 [ 155 10F
plot(xx,yy)
abline(alpha, beta,col = 1)#####
abline(c(cyx),Ity = 2,col = 2)
abline(intercept,slope,col =3)
abline(coef(WLM), col = 4)
legend("bottomright",c("B-M","OLS","Theil","WLM"),Ity = ¢(1,2,1,1),col = 1:4)
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BM_Rfun = function(intercept,slope,x,y){
X_median = median(x)
I1=NULL
11 <-c((x[]<X_median & y[] > intercept + slope*x[]))
12<-c((x[]>X_median & y[] < intercept + slope*x[]))
T_STATISTICS <-((sum(l1)-length(l1)/4)*2+(sum(I2)-length(12)/4)"2)*8/length(l1)
pvalue = pchisq(T_STATISTICS,2,lower.tail = FALSE)
result<-list(t=T_STATISTICS,info=paste("P & _}"),pvalue)
result
}
BM_Rfun(cyx[1],cyx[2],xx,yy)#OLS
BM_Rfun(intercept,slope,xx,yy)#Theil

BM_Rfun(coef(WLM)[1],coef(WLM)[2],xx,yy)#WLS



detach(datal)
HHHHHHHHEHHEH
install.packages("irr")

library(irr)

ratings<-read.csv(file = "/Users/w/Desktop/junior_STAT_FIRST_SEM/nmSTAT/12-
data.csv",header =T)

ratings<-ratings[!is.na(ratings)]

ratings = matrix(ratings,nrow = 12, ncol =10)
kendall(t(ratings), correct = TRUE)
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Al<-colSums(ratings)

A_num <- which(A1>median(A1))
ratings2<-ratings[,A_num]

kendall(t(ratings2), correct = TRUE)
#ratings.rank <- apply(ratings, 2, rank)
HHHHHHH R BT HEHG A
D_Matrix<-matrix(c(40,5,25,30),2,2,byrow = T)
library(fmsb)

Kappa.test(D_Matrix)
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install.packages("quantreg")

library(quantreg)

library(SparseM)

infant_weight<-read.table(file = "/Users/w/Desktop/junior_STAT FIRST_SEM/nmSTAT/%{ ¥ %%/
K EHIE/SE 6 & [infant-birthweight.txt",header = T)



attach(infant_weight)
plot(m.wtgain,weight,xlab = "m.wtgain",ylable = "weight",type = "n")
points(m.wtgain,weight)
taus = seq(0.1,0.9,0.1)
f = coef(rq(weight~m.wtgain,tau = taus));
for (i in 1L:length(taus)){
abline(f[,i][1],f[,i][2],Ity = 2,color =)
}
abline(Im(weight~m.wtgain),lty = 9)
legend(3000,700,c("mean","median","otherquantile"),lty = ¢(9,1,2))

fitl<-rg(weight~married+boy+smoke+mom.age+m.wtgain,method="pfn",
tau=c(0.1,0.2,0.3,0.4,0.5,0.6,0.7,0.8,0.9))

summary(fit1)
plot(summary(fit1, alpha=0.05))

detach(infant_weight)
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